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1D pull distribution

+0.1113

—0.003639

Mean

0.8901+ 0.07867

Std Dev

Underflow

Overflow
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X2 / ndf

12.44 +2.17

Constant
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-0.3454

Mean
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Sigma

0

50.71/63 K
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1D pull distribution
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1D pull distribution

+0.1703

—-0.001426

Mean

+0.1204

1.362

Std Dev

Underflow

Overflow

12.66/10

X2 / ndf

9.405 +1.931

Constant

0.07298 + 0.17057

Mean

+0.183

1.168

Sigma

0III|II
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20.41
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1D pull distribution

0.002015 + 0.2082

Mean

+0.1472

1.666

Std Dev

Underflow

Overflow

6.26/11
7.289 +1.321
-0.11+0.32
1.781+ 0.298

X2 / ndf
Constant
Mean
Sigma
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1D pull distribution

—0.001614 + 0.06069

Mean

0.4855 + 0.04292

Std Dev

Underflow

Overflow

6.154/3

X2 / ndf

35.95 +6.15

Constant

0.05643 + 0.04576

Mean

0.3425 +0.0372

Sigma

15.09/63 hH

X2 / ndf

929 + 22.34
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1D pull distribution

+0.08178
0.6542 + 0.05782

—-0.00474

Mean
Std Dev

Underflow

Overflow

6.779/4

X2 / ndf

18.32 +3.49

Constant

-0.07226 + 0.09206

Mean

0.6715 + 0.0987

Sigma

L

0III|III|II

27.39/63 h
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X2 / ndf
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